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Ur | Ie U, U, la I U | Par Rag | Py iPg
T. o B L e
VA v v mA mA VW ke WW
(750 | —100 70 15 | 225 2 35
1000 | —135 70 15 | 260 3 50
C-Ter 11250 —175 70 15| 300 | 4 |65
1250 | —400 80 25 maximum (f= 60 MHz) | 35
750 | —150 70 15| 275 | 3 35
C-TH [1000 ~200 70 15| 325 4 50 |
A-Mod. | | 1000 | —400 80 25 23
800 | amer 7,531 ! ‘
750 | — 40 45 2| 160 3.6 10
B-TIf |1ooo — 55 2 2| 170 3,3 14 |
1250 45 } ] 35
(750 | — 40| (131052 160x2 | 3 x2 64 90
B(~) |]1000 | — 55| (14+ 80)x2 150x2 | 2.2x2 125 100
Modul. inso — 70| (15+ 65)x2 150x2 | 17x2 21 106
1250 115 maximum 35
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Equivalents

c, C, Coa
L
| 6 3 pF pF pF C 800 amer
| RK 30 Ray
‘ 2,8 2,8 2,5
800 !
8
‘ 400
; o
A 800
J ; 300 __1a—1
TT =) 250 =k ()
) 100
150 7%
100 % N 50
T ' "l“ /&V
1 | / ro 60 N
;800 | —— alpSd L
3000160052 0 250 500 70 M0 1250 B0y 200
BRE
250 : Ifa ‘ /
: q
wh 800 | |/ .
200 200} g =1000v 1 800 /
Ry=3125Q / bt o osav /
\7 M) o =s25082 /
750 150 1502
/ /
00 0
100 / 0 /
o/
o v // / 50 V/ /
\
‘ 0
"% 0 50 100 Ug(v) =~ 1004y (V=50 0 50 100 ~100U(V}-50 0 50 1w
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